50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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(06 Marks)

able gives data for a Llneaf Programmmg Problem where the objective is to

Resource Re

Activity 1

Availab;i@%

20

¢ 3

%;groﬁt/umt

Use Big-M

Maximize Z = 2xX; + Xz »’*;

Subject to 3x; +x2 =3~
4% + 3%, 2

¢thod to solve the following LPP

1of2

g 3 fesources to 2 non negative activities. Formulate the

(06 Marks)

(10 Marks)

(10 Marks)

(06 Marks)

(14 Marks)
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a. Explain the computational procedure of revised simplex method in standard form. (10 Marks)

b. Explain the relation between the solution of the primal and th%% ual. (06 Marks)
c. Find the dual of the following problems: Ay
i) Maximize Z = X1 +2X + X3 . ﬁ%’%
Subject to 2x; + X2 — X3 <2 N ?;‘f;ﬁ 14
2x1+x-5x32 -6 ‘%‘%ﬁ
4x; + X+ X356 “e

X1, X2, X320

i) Maximize Z = 6x; + 102 =
Subject to x; < 14 o)
X2 <16 " &
=
Wif (04 Marks)
&
Write the procedure foi sensitivi is. Cos (08 Marks)

P

Use dual simplex
Maximize Z = -2%;

Subject to x; +§‘%§a 2
2k #x<10
&
A %20 20 a— (12 Marks)

,5@& PP

a. Write different steps in Hungariati%Algorithm to solvé an‘assignment problem. (08 Marks)

g the data giver elow. Use Vogel’s

b. Obtain optimal solution ofﬁa‘%sportation problem ¥
approximation method to®obtain an initial basié '%%ible solution. &% v (12 Marks)
. D, |.B; .05 [ D4 | Supply } ~
5 Si 19430450 | 10| 7T~
S, 70 .30 | 40 | 60 ;”f“‘i i

S; 407 8 [70[20] "JB
Demand“} 8 | 714y 34
T -

& g @ﬁ@gﬁ:%
a Solv%ﬁ@?’@ame whose pay Q%n‘} ix is given bek&?&v%
Ly Playét B
¢ - ¢ %:f %% 2 40
¢ e
s“\% ' P 4 2 4
= Jo %4 Playefldyr's 2 4 0
Wé@iﬁ {%;M % 4 0 4 0 8
. o> .S (10 Marks)
b. Use graphicﬁ%ifzthod to solve the ‘?wl‘fﬁowing game:
R o Player B
A & A |B; B B; B4
R Player A[A; |2 2 3 -2
g;'g;%’@ A4 3 2 6
b (10 Marks)
" &
a. Explain genetig&%@arithm and simulate annealing algorithm. (12 Marks)
b. Explainin deéai_lﬁﬁe minimum spanning free with constraints. (08 Marks)
A, d %k %k Kk *k ok
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